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1 Introduction 
According to[1]，if the triggerType is set to ‘event’ and if the leaving condition applicable for this event is fulfilled for one or more of the cells included in the cellsTriggeredList, and the reportOnLeave is set to TRUE, one measurement report will be sent to eNB. Normally eNB is assumed to deduce leaving cell(s) from received measurement reports. However if UE reports a full measurement report, sometimes eNB can’t make sure which one is leaving.
2 Discussion
The cellsTriggeredList is limited to maxCellMeas(32 [1]), and the reported cells are limited to maxReportCells(max is maxCellReport(8 [1])). It means that only the best maxReportCells cells in cellsTriggeredList are reported after being ordered by decreasing quantity, as shown in figure 2.1. If one cell is no more listed within top maxReportCells  cells after being reported then its leaving maybe not able to be detected by eNB because same measurement report will be also triggered when other cells within cellsTriggeredList but out of top maxReportCells cells are leaving.
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Figure 2.1
Here is an example. For simplicity assuming the maxReportCells is 2, as shown in figure 2.2. At time T1 there are 3 cells i.e. cell1, cell2 and cell3 while cell1 and cell2 are reported. At time T2, one better cell i.e. cell4 enter the trigger list and cell3 is squeezed out of top 2 cells. At time T3 either cell2 or cell3 is leaving the same cells i.e. cell1 and cell4 are reported. However eNB can’t make sure which cell is leaving only based on received measurement report. 
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Figure 2.2
The main problem results from the full measurement report. If less than maxReportCells cells are reported then eNB will not be confused. One of the solutions is to report explicitly which cell is leaving. In this way the ambiguity is removed.
Proposal1: If up to maxReportCells cells are reported and one or more cell is leaving, the leaving cell(s) should be reported in addition.

Another point is related to signalling overhead optimization. According to current specification the measurement report will be triggered by a leaving cell despite that it has not been reported before. Actually this kind of measurement report doesn’t make any sense for eNB because it can’t be reflected by difference of measurement reports.
Proposal 2: The explicitly reported leaving cell should be reported at least once before
Proposal 3: The measurement report should not be triggered if the leaving cells are never reported before
3 Conclusion 
Proposal1: If up to maxReportCells cells are reported and one or more cell is leaving, the leaving cell(s) should be reported in addition.

Proposal 2: The explicitly reported leaving cell should be reported at least once before
Proposal 3: The measurement report should not be triggered if the leaving cells are never reported before
4 Reference

[1] 36331-860：Evolved Universal Terrestrial Radio Access (E-UTRA) Radio Resource Control (RRC)
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